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Principal-Agent Model:
Nuptial Gifts and Courtship Feeding

W;=N+C—MC+ W,
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Wy Female Fitness Increment
N Nuptial Gift
C Courtship Feeding

MC  Payment Expended for Feeding
W,  Female Outside Option

W Male Fitness Increment

sMC Payment Received for Feeding
fC?  Foraging Cost of Courtship Food
gN Cost of Nuptial Gift

Wmo  Male Outside Option




Principal—Agent Courtship
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Principal—Agent Courtship

Female With Outside Option
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Condition for Continued Pairing
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T" Temptation to Defect
P Punishment
B Benefit to Continued Pairing
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Threshold Daily Survival for Continued Pairing
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Parent-Offspring Firm

Food

Price of Food Demand Curve

Fitness
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Chick Optimal Demand Curves

Chick Size: Red=Large, Dark Green=Medium, Blue=Small

Food Quantity, K
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Parental Fitness Production Function,
Chick Size: Red=Large, Dark Green=Medium, Blue=Small
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Parental Fitness Production Function, Parental Fitness Production Function,
Chick Size: Red=Large, Dark Green=Medium, Blue=Small Chick Size: Red=Large, Dark Green=Medium, Blue=Small

Self Feeding: Chick Supply, Kc = 0.5 Self Feeding: Chick Supply, Kc = 2
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Chick Food Procured And Weaning Threshold

Variable Food Supply With Chick Self Feeding

Chick Food, Kc
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Evolutionary Tier
Genetical Dynamics
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Evolution results in payoff matrix that is ESS,
from which behavior emerges.
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